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Cuadro 20 (continuación 3)/Table 20 (continued 3)
Uruguay: tablas abreviadas de mortalidada

Uruguay: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.044 0.042  100 000  4 201  96 499 0.957 b 6 697 770 67.0
1 4 0.001 0.005  95 799   444  382 055 0.995 c 6 601 271 68.9
5 5 0.000 0.002  95 355   221  476 223 0.998 6 219 216 65.2

10 5 0.000 0.002  95 134   226  475 105 0.996 5 742 993 60.4
15 5 0.001 0.005  94 908   457  473 399 0.994 5 267 887 55.5
20 5 0.001 0.007  94 451   643  470 650 0.993 4 794 489 50.8
25 5 0.001 0.007  93 809   683  467 337 0.992 4 323 839 46.1
30 5 0.002 0.009  93 126   802  463 625 0.990 3 856 502 41.4
35 5 0.002 0.012  92 324  1 134  458 785 0.984 3 392 877 36.7
40 5 0.004 0.019  91 190  1 771  451 522 0.974 2 934 092 32.2
45 5 0.006 0.032  89 419  2 848  439 974 0.957 2 482 570 27.8
50 5 0.011 0.054  86 571  4 711  421 078 0.933 2 042 596 23.6
55 5 0.017 0.081  81 860  6 601  392 798 0.901 1 621 518 19.8
60 5 0.025 0.119  75 259  8 957  353 903 0.855 1 228 720 16.3
65 5 0.038 0.174  66 302  11 569  302 589 0.791  874 817 13.2
70 5 0.057 0.252  54 733  13 770  239 243 0.704  572 228 10.5
75 5 0.086 0.355  40 964  14 555  168 433 0.589  332 985 8.1
80 5 0.134 0.498  26 409  13 152  99 166 0.459  164 552 6.2
85 5 0.191 0.628  13 257  8 327  45 468 0.342  65 386 4.9
90 5 0.255 0.738  4 930  3 640  15 550 0.244  19 918 4.0
95 5 0.324 0.822  1 290  1 060  3 798 0.131 d  4 369 3.4

100 ω 0.402 1.000   229   229   571   571 2.5
Mujeres/Females

0 1 0.035 0.034  100 000  3 376  97 209 0.965 b 7 389 111 73.9
1 4 0.001 0.005  96 624   442  385 332 0.996 c 7 291 903 75.5
5 5 0.000 0.002  96 183   154  480 530 0.998 6 906 571 71.8

10 5 0.000 0.002  96 029   156  479 755 0.998 6 426 041 66.9
15 5 0.001 0.003  95 873   242  478 761 0.997 5 946 286 62.0
20 5 0.001 0.003  95 631   291  477 428 0.997 5 467 525 57.2
25 5 0.001 0.004  95 340   369  475 778 0.995 4 990 096 52.3
30 5 0.001 0.005  94 971   502  473 601 0.993 4 514 318 47.5
35 5 0.002 0.008  94 469   737  470 504 0.990 4 040 717 42.8
40 5 0.002 0.012  93 733  1 116  465 872 0.986 3 570 213 38.1
45 5 0.003 0.017  92 616  1 569  459 159 0.979 3 104 341 33.5
50 5 0.005 0.026  91 047  2 328  449 416 0.968 2 645 182 29.1
55 5 0.008 0.039  88 719  3 435  435 009 0.952 2 195 766 24.7
60 5 0.012 0.057  85 284  4 859  414 274 0.927 1 760 757 20.6
65 5 0.019 0.091  80 425  7 289  383 903 0.880 1 346 483 16.7
70 5 0.033 0.152  73 136  11 084  337 970 0.809  962 581 13.2
75 5 0.053 0.237  62 052  14 692  273 533 0.694  624 610 10.1
80 5 0.099 0.396  47 361  18 760  189 905 0.546  351 077 7.4
85 5 0.154 0.549  28 601  15 691  103 778 0.410  161 173 5.6
90 5 0.219 0.681  12 910  8 795  42 564 0.293  57 395 4.4
95 5 0.291 0.786  4 115  3 235  12 490 0.158 d  14 831 3.6

100 ω 0.376 1.000   881   881  2 341  2 341 2.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


